Installation Instructions - Combo Caps

ltem Part #

1. 1122863
1122862
1122865
1122897
1122899
1700400
1700434
1700407
1704706
1701283

Description

Combo Bow - 90 1/2" x 8" Rise
Combo Bow - 104 1/2" x 12" Rise
Combo Bow - 98 1/2" x 12" Rise
Combo Bow Bracket - 12°
Combo Bow Bracket - 17°
Self-Tapping Screw - 3/8" x 1"
Lock Washer - 3/8”

Hex Nut - 3/8”

Button Head Cap Screw - 3/8" x 1 1/4”
Top Lock Flange Nut - 3/8"

N

Noo,~w

STEP 1: Place combo bow on top of trailer, across front. Deter-
mine mounting location according to depth of fabric cap

packaging plus 10". Mark location on top ralils.

TOP RAIL

COMBO BOW

A

FABRIC CAP

STEP 2: Center combo bow on trailer. Mark both sides of bow as
shown, with no part of bow extending past side of trailer.
Remove excess material from combo bow.
/—xMARK &
TRAILER CUT HERE

COMBO BOW

\

REMOVE

PO BOX 713 = 2309 SHUR-LOK STREET
YANKTON, SOUTH DAKOTA 57078-0713
PH. 1-800-474-8756 = FAX 605-665-0501

PIN 1123051 Rev. A

Center bow brackets under CONBO BOW

combo bow, against inside of |

trailer. Mark bracket locations
BOBRACKET

and remove bow.
Option A: Align bow brackets with marks. Weld in place.

STEP 3:

STEP 4:

Option B: Align bow brackets with marks. Using brack-
ets as guides, mark hole locations on combo bow and
on inside of trailer. Drill 13/32" holes in combo bow and
trailer. Fasten bracket to combo bow with screws @ and

DRILL
13/32” nuts @. Fasten brackets loosely to trailer with screws
HoLes @, washers @ and nuts ©.

DRILL 13/32" HOLES

TAPER REAR GROOVE

\

SHUR-CO® HELP LINE
CALL: 1-866-748-7435
www.shurco.com

To prevent tarp wear, taper
ends of rear groove on
both sides of combo bow.
Grind sharp edges smooth.



Installation Instructions - Combo Caps - continued

ltem Part #

1700581
1700990
1701355
1701059
1700419
1700400

Description

Flat Bar - 1/8" x 1" x 103"
Heavy-Duty Stretch Cord - 18"
Rope Anchor

Self-Tapping Screw - 5/16" x 1"
Nylon Lock Nut - 5/16"
Self-Tapping Screw - 3/8” x 1"

ocourwNhE

OQ‘

STEP 1:  Apply small amount of lubricant to front groove on
combo bow. Slide rod in fabric portion of cap entirely

into groove.

COMBO BOW

\

FRONT
GROOVE

FABRIC CAP

NOTE: Use one section of flat bar across straight portion on front
of cap. Side and radius may be one section. Use as few sections
as possible. Supply even tension over fabric cap for secure and

clean fit.

PO BOX 713 = 2309 SHUR-LOK STREET
YANKTON, SOUTH DAKOTA 57078-0713
PH. 1-800-474-8756 = FAX 605-665-0501

PIN 1123051 Rev. A

STEP 2:  Cutaluminum flat bar sections 1/2” shorter than pocket
lengths. Insert sections into fabric cap pocket. Shape to

fit corner radius, if applicable.

SHAPE TO

FIT RADIUS FLAT BAR

N

STEP 3:  Work fabric cap over front of bulkhead. Align seam in
fabric with weld along top of trailer.

FABRIC CAP

FRONT OF
BULKHEAD

ceNYINe SHUR-CO® HELP LINE
@ CALL: 1-866-748-7435
° www.shurco.com



Installation Instructions - Combo Caps - continued

FLAT BAR & STRETCH CORD OPTION

STEP 4:  Locate one stretch cord on each side of cap, centered
on side of fabric cap. Equally space remaining stretch
cords across face of cap. For each stretch cord, dfill
two 3/16” holes through aluminum flat bar. Hook stretch

cords into holes.
FABRIC CAP

1%

STRETCH CORD

STEP 5:

Locate rope anchors so stretch cords receive at least
10 pounds of pressure. Drill 1/4” holes and fasten rope
anchors with screws @ and nuts ©. Hook stretch cords
over rope anchors.

DRILL 1/4” HOLES

PO BOX 713 = 2309 SHUR-LOK STREET
YANKTON, SOUTH DAKOTA 57078-0713
PH. 1-800-474-8756 = FAX 605-665-0501

’

PIN 1123051 Rev. A

[FLAT BAR ONLY OPTION|

Drill 5/16” holes through aluminum flat bar and fasten
cap to trailer with screws @. Install two screws @ on
each side of caps, and equally space remaining screws
across face of caps.

STEP 4:

COMBO CAP

\

SHUR-CO® HELP LINE
CALL: 1-866-748-7435
www.shurco.com



Installation Instructions - Combo Caps - continued PIN 1123051 Rev. A

FABRIC CAP

RUBBER TARP STRAP OPTION

ltem Part # Description

1700650 Rubber Tarp Strap - 21"
1700682 Box Hook - 5/16" Holes
1700403  Self-Tapping Screw - 1/4” x 3/4”
1700427 Flat Washer - 1/4”
1701543 Nylon Lock Nut - 1/4”

oo

STEP 1:  Apply small amount of lubricant to front groove oncombo | STEP 3:  Hook tarp straps into
bow. Slide rod in fabric cap entirely into groove. D-rings on fabric cap.

COMBO BOW

D-RING

FRONT TARP STRAP

GROOVE

STEP 4: Locate box hooks so tarp straps receive at least 10
pounds of pressure. Drill 1/4" holes and fasten box
hooks with screws ©, washers @ and nuts ©. Hook
tarp straps into box hooks.

STEP 2:  Work fabric cap over front of bulkhead. Align seam in
fabric with weld along top of trailer. TARP STRAP
FABRIC CAP
\ 5
. BOX HOOK
@
v @ )
0
; 0

®
J o
%

PO BOX 713 = 2309 SHUR-LOK STREET GeNYU NG SHUR-CO® HELP LINE
YANKTON, SOUTH DAKOTA 57078-0713 ﬁﬂﬂ;;» CALL: 1-866-748-7435
PH. 1-800-474-8756 = FAX 605-665-0501 ¢ www.shurco.com

FRONT OF
BULKHEAD




